Jayden’s kite tail had 17 bows. Some of
the bows fell off in the wind. Now there

are 6 bows left. How many bows fell
off?
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UNDERSTAND PLAN

Read The problem, gafher wporfan informalion, and (Choose a slralegy and draw oul your plan of aclion
wrile whal The queslion 1s asking you fo find

SOLVE CHECK

Use your plan To choose an operalion and solve Check your work using wwerse operalion. Did you answer The
queslion and 15 your solulion reasonable?




Ella ate 4 strawberries. Mila ate 9
strawberries. How many more
strawberries did Mila eat than Ella”?
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UNDERSTAND PLAN

Read The problem, gafher wporfan informalion, and (Choose a slralegy and draw oul your plan of aclion
wrile whal The queslion 1s asking you To find

SOLVE CHECK

Use your plan To choose an operalion and sol ve Check your work using wwerse operalion. Did you answer The
cyesf»on and 15 your solulion reasonable?




